NIT No.SPPRA Serial No.35385

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work: REPAIRING AND SERVICING OF 80HP VERTICAL PUMP

MODEL KVP 200-315 PUMP NO.01 & 02 REQUIRED ELECTRICAL ACCESSORIES AT EJECTOR-12 OF SEWERAGE

PUMPING DIVISION-II, SADDAR TOWN KW&SB

Date of Opening:

12-12-2017

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

S.	₹	Bidder	rs' Name
No.	Eligibility / Qualification Criteria	M/s.H.R Brothers	M/s.Al-Hannar Builders
1.	Registration with PEC (if applicable)	N/A	N/A
2.	NTN	Yes	Yes
3.	Sales Tax Registration	N/A	N/A
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes
	Qualification Criteria:		
5.	Minimum three years' experience of relevant field.	Yes	Yes
6.	Turnover of at least last three years	Yes	Yes
7.	Required Bid Security is attached.	Yes	Yes
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A
10.	Qualified/ disqualified	Qualified	Qualified

(Sanaullah Aleem Sheikh) D.A.O (S.P.D)

Member / Secretary

(Manzoor Yamih S.E (S.P Circle)

Members

(Saif-ul-Maque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Saifuddin)

Director (Design & Estimate)

SPPRA Serial No.35385 NIT Sr. No.

Method of Procurement:

Single Stage Single Envelope.

Name of Work:

REPAIRING AND SERVICING OF 80HP VERTICAL PUMP MODEL KVP 200-315 PUMP NO.01 & 02 REQUIRED ELECTRICAL ACCESSORIES AT EJECTOR-12 OF SEWERAGE

DIVISION-II, SADDAR TOWN KW&SB

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 12-12-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- Two bidders submitted their bids till the deadline of submission. 2.
 - i. M/s. H.R Brothers
 - ii M/s. Al-Hannan Builders
- 3. The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date		
1.	M/s.H.R. Brothers	Rs.10,00,000/-	Rs.20,000/-	P.O # 04279009 dt:12-12-2017 from Bank Al Habib Ltd Saadi Twon Branch Karachi		
2.	M/s.Al-Hannan Builders	Rs.10,11,775/	Rs.20,500/-	P.O # 18033252 dt:12-12-2017 from HBL Sindh Secretariat Branch Karachi		

- The bids do not contain any cutting or overwriting. 4.
- The committee shall examine all the bids as per the qualification / eligibility criteria 5. provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Sanaullah Aleem Sheikh) D.A.O (S.P.D)

Member / Secretary

(Manzoor Yamin)

S.E (S.P Circle)

Members

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Saifuddin)

Director (Design & Estimate)



KARACHI WATER & SEWERAGE BOARD OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

BID EVALUATION REPORT

	1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
	2	Tender Reference No:	SPPRA Serial No.35385 I.D No
4)	3	Tender Description/Name of Work/Item:	REPAIRING AND SERVICING OF 80HP VERTICAL PUMP MODEL KVP 200-315 PUMP NO.01 & 02 REQUIRED ELECTRICAL ACCESSORIES AT EJECTOR-12 OF SEWERAGE PUMPING DIVISION-II, SADDAR TOWN KW&SB
	4	Method of Procurement:	Single Stage (One Envelop)
	5	Tender Published:	Through SPPRA Web Site
	6	Total Bid Documents Sold:	<u>2 Nos</u>
	7	Total Bid Received:	2 Nos
	8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
	9	No. of Bid Technically Qualified (if applicable)	<u>N/A</u>
	10	Bid (s) Rejected:	NIL
	11	Financial Bid Opening Date:	12-12-2017
	-		

12 **BID EVALUATION REPORT**

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARIS ON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1.	M/s.H.R. Brothers	Rs.10,00,000/-	l st Lowest	@3.044% Above	Pay order and other required documents are available. P.O # 04279009 dt:12-12-2017 Rs.20,000/-from Bank Al Habib Ltd Saadi Twon Branch Karachi	Substantially Responsive
2	M/s.Al- Hannan Builders	Rs.10,11,775/	2 nd Lowest	@4.258% Above	Pay order and other required documents are available. P.O # 18033252 dt:12-12-2017 Rs.20,500/-from HBL Sindh Secretariat Branch Karachi	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E Copeerned for compliance of Rule-45 of SPPRA 2010 M/s.H.R Brothers declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Sanaullah Aleem Sheikh) D.A.O (S.P.D) Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Manzoor Yamin) S.E (S.P Circle) Members

Director (Design & Estimate) Convener

COMPARATIVE STATEMENT

* Name of Work: REPAIRING AND SERVICING OF 80HP VERTICAL PUMP MODEL KVP 200-315 PUMP NO.01 & 02 REQUIRED ELECTRICAL ACCESSORIES AT EJECTOR-12 OF SEWERAGE PUMPING DIVISION-II, SADDAR TOWN KW&SB

Item	Description of Work		Estimated Cost				M/s.H.R Brothers		M/s.Al-Hannan Builders	
No		Quan	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
l.	Servicing varnishign 3 phase AC Motor No.1 & 2, 80 Hp Motor at Ejectro-12 with new main insulin overhauling complete drying to packing oven a required i.e lasting insulation as desired 80 Hp + 80 Hp	160.00	НР	90	P/Hp	14,400.00	100	16,000.00	90.00	14,400.00
2	Rewinding of electrical motor 3 phase 400/440 Volts 50 cycle wity quality insolated copper wire of required gauge including testing on load with satisfactory result upto one weeks time opening and refitting and replicing the bolts if necessary excluding the cost of worn out material for de-watering Pump # 1 & 2	2.00	Job	10,599	P/Job	21,198.00	10,000	20,000.00	10500.00	21,000.00
3	P/F Circuit Breaker 630 Amp TP setting 400-630 Amp (XS-630CJ) on prepared board as required for main Interlock switch.	1.00	No	61696.00	Each	61,696.00	62000.00	62,000.00	59500.00	59,500.00
4	P/F Circuit Breaker 400 Amp TP Setting 250-400 Amps (XS-400CJ) on prepared board as required for Vertical Pump # 1 & 2.	2.00	Nos	39401.00	Each	78,802.00	39500.00	79,000.00	41000.00	82,000.00
5	P/F Magnetic Contactor Model No.FC-125 N as required and as per instruction of E/I for Vertical Pump # 1 & 2.	4.00	Nos	29010.00	Each	116,040.00	29000.00	116,000.00	30000.00	120,000.00
6	P/F Magnetic Contactor Model No.FC-80 N as required and as per instruction of E/I for Vertical Pump # 1 & 2.	2.00	Nos	16705.00	Each	33,410.00	17000.00	34,000.00	15500.00	31,000.00
7	P/F C.I Sluice valve heavy pattern (test pressure 21.0 Kg / Sq. Com. Or 300 Lbs/Sq. (Imported) 300mm 12" dia Pump No.01 & 02	2.00	Nos	78000.00	Each	156,000.00	80000.00	160,000.00	79500.00	159,000.00
8	P/F reflex valve heavy pattern test pressure 21 Kg sq. Com or 300 Lb/Sq/Inch (Imported) Pump 01 & 02	2.00	Nos	21937.50	Each	43,875.00	17500.00	35,000.00	20000.00	40,000.00
9	Providing, Laying & jointing Black Steel M.S Pipe with welding (straight welded) 8.7 mm thickness as required 12" dia.	7.00	RM	12055.31	P/Rm	84,387.17	12000.00	84,000.00	15000.00	105,000.00
10	M.S Washer	15.00	Kgs	120.00	P/Kg	1,800.00	150.00	2,250.00	100.00	1,500.00
11	SS Nut & Bolts (full threaded)	35.00	Kgs	725.00		25,375.00	700.00	24,500.00	775.00	27,125.00
12	Rubber Packing sheet thicness	25.00	Kgs	99.99	P/Kg	2,499.75	110.00	2,750.00	150.00	3,750.00



e weals

W



my

Name of Work: REPAIRING AND SERVICING OF 80HP VERTICAL PUMP MODEL KVP 200-315 PUMP NO.01 & 02 REQUIRED ELECTRICAL ACCESSORIES AT EJECTOR-12 OF SEWERAGE PUMPING DIVISION-II, SADDAR TOWN KW&SB

Item No	Description of Work		Estimated Cost				M/s.H.R Brothers		M/s.Al-Hannan Builders	
140		Quan	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
13	Providing & fixing timer 500 HP backup National after removing of existing burnt / damage old time after disconnection of main power supply & reconnection the same after fixing the timer as required as per instruction of E/I.	2.00	Nos	9609.00	Each	19,218.00	10000.00	20,000.00	10500.00	21,000.00
14	Providin g& Fixing volt meter size 96/96mm 500 volts as required as per instruction of E/I	2.00	Nos	999.00	Each	1,998.00	1000.00	2,000.00	1500.00	3,000.00
15	P/F Ammeters size 96/96 mm direct 15A, 30A, 50A, 60A & 100A as required as per instruction of E/I Pump No. 01 & 02	2.00	Nos	1054.00	Each	2,108.00	1000.00	2,000.00	2000.00	4,000.00
16	P/F Universal cross dia 5 inch long 10 inch as required welding cutter and big lath machine balacing of shaft after facing welding balancing turning and polishing etc universal size 10 inch long 2.	2.00	Nos	15000.00	Each	30,000.00	16500.00	33,000.00	15000.00	30,000.00
17	P/F Oil Seal inner dia 100 outer dia 150 mm thickness 10mm, as required 2	2.00	Nos	3500.00	Each	7,000.00	3800.00	7,600.00	4000.00	8,000.00
18	P/F Cylinderal roller bearing No.NJ421.	2.00	Nos	32927.00	Each	65,854.00	36200.00	72,400.00	35750.00	71,500.00
19	P/F Deep Group Ball Bearing No.6411/C3	2.00	Nos	8461.00	Each	16,922.00	9450.00	18,900.00	10000.00	20,000.00
20	P/F Ball Bearing No.6322 for Motor # 1 & 2	2.00	Nos	33779.00	Each	67,558.00	37300.00	74,600.00	40000.00	80,000.00
21	P/F Ball Bearing No.6315.2 Z/C3 for Motor # 1 & 2	2.00	Nos	11088.00	Each	22,176.00	13000.00	26,000.00	15000.00	30,000.00
22	Manufacturing casting MS providing & fixing of impeller 8" dia of vertical Pump # 01 & 02	2.00	Jobs	38057.00	P/Job	76,114.00	42000.00	84,000.00	30000.00	60,000.00
23	Labour charges and transportation from site to workshop and back	2.00	Jobs	11012.00	P/Job	22,024.00	12000.00	24,000.00	10000.00	20,000.00
	TOTAL QUOTED / CORRECTED COST					970,455		1,000,000		1,011,775

(Sanaullah Aleem Shaikh) D.A.O (S.P.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsood/Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Manzool Yamin) S.E (S.P Gircle) Member

(Saifuddin) 13-12-17

Durectir (Design & Estimate)

ATTENDANCE SHEET

NAME OF WORK:-

S.No	NAME OF WORK
* 1.	REPAIRING & SERVICING OF 80 HP VERTICAL PUMP MODEL KVP 200-
	315 PUMP NO.01 & 02 REQUIRED ELECTRICAL ACCESSORIES AT
*	EJECTOR-12 OF SEWERAGE PUMPING DIVISION-II SADDAR TOWN.

Venue:-

Box not Enter The Director (D&E) KW&SB, Situated At COD Filter Plant

Block-17 Gulshan-e-Iqbal Karachi.

Date:

12-12-2017 at 2:30 PM

CONTRACTORS/FIRMS/BIDDERS

S.No	Name Of Firms/Bidders	Contact No	Signature
1	H. R. Brothers	0321-2578793	By home de
	AI-HANNAN BUILDERS		Yannan
×			



KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.35385 I.D No
3	Tender Description/Name of Work/Item:	REPAIRING & REWINDING OF 28KW GRAND FOSE (HMA) SUMERSIBLE PUMP AND ELECTRICAL PANEL INSTALLED AT SHEREEN JINNAH P/S SPD-I
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	<u>2 Nos</u>
7	Total Bid Received:	2 Nos
8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	NIL
11	Financial Bid Opening Date:	12-12-2017
	2 3 4 4 5 6 6 7 8 8 9	Tender Reference No: Tender Description/Name of Work/Item: Method of Procurement: Tender Published: Total Bid Documents Sold: Total Bid Received: Technical Bid Opening Date (if applicable): No. of Bid Technically Qualified (if applicable) Bid (s) Rejected:

12 BID EVALUATION REPORT

S #	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARIS ON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1.	M/s.H.R. Brothers	Rs.9,50,000/-	1 st Lowest	@2.275% Above	Pay order and other required documents are available. P.O # 04279008 dt:12-12-2017 Rs.20,000/-from Bank Al Habib Ltd Saadi Twon Branch Karachi	Substantially Responsive
2	M/s.Al- Hannan Builders	Rs.9,91,215/	2 nd Lowest	@6.712% Above	Pay order and other required documents are available. P.O # 18033253 dt:12-12-2017 Rs.21,000/-from HBL Sindh Secretariat Branch Karachi	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.H.R Brothers declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Sanaullah Aleem Sheikh) D.A.O (S.P.D)

Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Manzoor Yamin) S.E (S.P Circle) Members (Saifuddin) Director (Design & Estimate)

NIT Sr. No. SPPRA Serial No.35385

Method of Procurement:

Single Stage Single Envelope.

Name of Work:

REPAIRING & REWINDING OF 28KW GRAND FOSE (HMA)
SUMERSIBLE PUMP AND ELECTRICAL PANEL INSTALLED AT

SHEREEN JINNAH P/S SPD-I

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 12-12-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- 2. Two bidders submitted their bids till the deadline of submission.
 - i. M/s. H.R Brothers
 - ii. M/s. Al-Hannan Builders
- The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
£1.	M/s.H.R. Brothers	Rs.9,50,000/-	Rs.20,000/-	P.O # 04279008 dt:12-12-2017 from Bank Al Habib Ltd Saadi Twon Branch Karachi
2.	M/s.Al-Hannan Builders	Rs.9,91,215/	Rs.21,000/-	P.O # 18033253 dt:12-12-2017 from HBL Sindh Secretariat Branch Karachi

- 2nd Lowest bid contain cutting and overwriting.
- The committee shall examine all the bids as per the qualification / eligibility criteria
 provided in the bidding document and verify the documents and bid security
 submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Sanaullah Aleem Sheikh)

D.A.O (S.P.D) Member / Secretary (Saif-ul-Maque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Manzoor Yamin) S.E (S.P Circle)

Members

(Saifuddin)

Director (Design & Estimate)

NIT No.SPPRA Serial No.35385

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work:

REPAIRING & REWINDING OF 28KW GRAND FOSE (HMA)

SUMERSIBLE PUMP AND ELECTRICAL PANEL INSTALLED

AT SHEREEN JINNAH P/S SPD-I

Date of Opening:

12-12-2017

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

s.		Bidder	s' Name
S. No.	Eligibility / Qualification Criteria	M/s.H.R Brothers	M/s.Al-Hannar Builders
1.	Registration with PEC (if applicable)	N/A	N/A
2.	NTN	Yes	Yes
3.	Sales Tax Registration	N/A	N/A
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes
	Qualification Criteria:		
5.	Minimum three years' experience of relevant field.	Yes	Yes
6.	Turnover of at least last three years	Yes	Yes
7.	Required Bid Security is attached.	Yes	Yes
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A
10.	Qualified/ disqualified	Qualified	Qualified

(Sanaullah Aleem Sheikh) D.A.O (S.P.D)

> S.E.(S.P.Circle) Members

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Saifuddin)

Director (Design & Estimate) Convener

COMPARATIVE STATEMENT

Name of Work: REPAIRING & REWINDING OF 28KW GRAND FOSE (HMA) SUMERSIBLE PUMP AND ELECTRICAL PANEL INSTALLED AT SHEREEN JINNAH P/S SPD-I

Item No	Description of Work	Estimated Cost					M/s.H.R Brothers		M/s.Al-Hannan Builders	
110		Quan	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
1	Mechanical seal part No, 6831400.upper & lower	2.00	Nos	40,000	Each	80,000.00	40,000	80,000.00	41500.00	83,000.00
2	O ring kit part No, 803279 (Imported)	2.00	Nos	3,000	Each	6,000.00	3,000	6,000.00	3250.00	6,500.00
3	S.K.F Lower bearing No, 845376/423312/63088	1.00	No	1,938	Each	1,938.00	2,000	2,000.00	2100.00	2,100.00
4	S.K.F upper bearing No, 833698/6308-1608/3312J	1.00	No	18,935	Each	18,935.00	17,500	17,500.00	20000.00	20,000.00
5	Washer port No, 3921500	2.00	Nos	576	Each	1,152.00	500	1,000.00	600.00	1,200.00
6	Shaft polishing i/c machinery etc	1.00	Job	1,800	P/Job	1,800.00	1,750	1,750.00	1900.00	1,900.00
7	Labour charges and transportation	1.00	Job	11,012	P/Job	11,012.00	10,000	10,000.00	10500.00	10,500.00
8	Rewinding of motor 440 volts star delta by means of dismantling all field coil varnishing and baking in oven	10.00	IID	40.000		40.200.00	40.000	40.000.00	42.500.00	40.500.00
0	and testing on load.	40.00	HP	40,280	P/Hp	40,280.00	40,000	40,000.00	42500.00	42,500.00
9	Providing and fixing circuit breaker 30Amp (Terasaki Japan) installed at 2ton electrical hoist panel	1.00	No	5,300	Each	5,300.00	5,000	5,000.00	5500.00	5,500.00
10	House pipe 8 (made in Japan)	30.00	Rft	1,350	P/Rft	40,500.00	1,250	37,500.00	1300.00	39,000.00
	Providing and fixing timer relay E.O.C.R (German)	1.00	No	9,600	Each	9,600.00	7,500	7,500.00	10000.00	10,000.00
12	Dismantling and repairing of electrical operated hoist crane 2 ton installed at 28 kw submersible pump at shreen Jinnah colony including rifting after complete in rearing and serving by cutting, welding, turning and polishing of gears box and roller drum complete in all respect	1.00	Job	8,300	P/Job	8,300.00	5,000	5,000.00	6725.00	6,725.00
13	P/F magnetic contactor fc25 n as required	1.00	No	5,561	Each	5,561.00	5,000	5,000.00	5500.00	5,500.00
14	p/f magnetic contactor fc50 nc as required	2.00	Job	9,301	P/Job	18,602.00	7,500	15,000.00	8500.00	17,000.00
15	p/f circuit barker 125 amp as required per site	1.00	Job	25,541	P/Job	25,541.00	20,000	20,000.00	22500.00	22,500.00
	P/Laying (main or sub main) pvc installed & pvc sheeted with 4 core copper consulter 600 size 2mm2	10.00	Mtr s	16,294	P/Mtr	162,940,00	16,500	165,000.00	17425.00	174,250.00

(and (e)

My T

1

my

Name of Work: REPAIRING & REWINDING OF 28KW GRAND FOSE (HMA) SUMERS BLE PUMP AND ELECTRICAL PANEL INSTALLED AT SHEREEN JINNAH P/S SPD-I

Item	Description of Work	Estimated Cost					M/s.H.R Brothers		M/s.Al-Hannan Builders	
No		Quan	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
17	Rewinding of 5 hp motor installed at 02 ton electrical. operated hoist crane at shreen Jinnah pumping station	5.00	НР	6,610	P/Hp	6,610.00	700	3,500.00	725.00	3,625.00
18	p/f loading hock installed at 02 ton electrical hoist operated crane	1.00	No	11,000	Each	11,000.00	12,500	12,500.00	13390.00	13,390.00
19	P/f s.s wire rope 12mm installed at electrical operated crane of submersible pump	100.00	Rft	150	P/Rft	15,000.00	190	19,000.00	200.00	20,000.00
20	P/f A mete	1.00	No	999	Each	999.00	1,100	1,100.00	1175.00	1,175.00
21	P/f V meter	1.00	No	1,054	Each	1,054.00	1,000	1,000.00	900.00	900.00
22	Manufacturing/ castings and re fixing of ms impeller of 28kw submersible pump at shreen Jinnah p.s complete job with all respect	1.00	Job	38,057	P/Job	38,057.00	40,000	40,000.00	41950.00	41,950.00
23	P/l black steel 8" Dia MS pipe completed to pump	40.00	Rft	2,479	P/Rft	99,154.80	2,700	108,000.00	2725.00	109,000.00
	P/f change over switch 400 AMP on prepaid board as required	1.00	No	34,588	Each	34,588.00	40,000	40,000.00	38500.00	38,500.00
25	Providing 1& laying (main or sub main) 600-/100 volts size 70mm 2 pvc start mtor for shreen jinnah p/s	70.00	Nos	3,528	Each	246,960.00	3,750	262,500.00	4000.00	280,000.00
26	P/f street light 125 watts	2.00	Nos	6,365	Each	12,730.00	7,000	14,000.00	5000.00	10,000.00
27	P/f CI sluice valve 210kg	1.00	No	17,940	Each	17,940.00	21,000	21,000.00	19500.00	19,500.00
28	P/f reflex valve 210kg last pass test peruses 8 " dia	1.00	No	7,313	Each	7,312.50	9,150	9,150.00	5000.00	5,000.00
	TOTAL QUOTED / CORRECTED COST					928,866		950,000		991,215

(Sanaullah Aleem Shaikh) D.A.O (S.P.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member (Manzoor Yaprin) S.E (S.P Circle) Member (Saifuddin) 13.12.17

Durectir (Design & Estimate)

06:16 32382

ATTENDANCE SHEET

NAME OF WORK:-

S.No	NAME OF WORK
1.	REPAIRING & REWINDING OF 28 KW GRAND FOSE (HMA)
	SUMERSIBLE PUMP AND ELECTRICAL PANEL INSTALLED AT SHEREEN
	JINNAH PUMPING STATION SPD-I.

Venue:-

The Director (D&E) KW&SB, Situated At COD Filter Plant

Block-17 Gulshan-e-Iqbal Karachi.

Date:

12-12-2017 at 2:30 PM

CONTRACTORS/FIRMS/BIDDERS

S.No	Name Of Firms/Bidders	Contact No	Signature		
1	Al- HANNAN BuiLDRES		Mannon		
2	H.R. BLOTENS	0321-2578773	2 Lines		